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QUESTION 1
Which three statements are true regarding Managing Units of Measure? (Choose three.)
A. Conversions between classes are unique for each item, the conversion rate varies for intraclass unit of measure.

B. A unit of measure standard conversion specifies the conversion factor by which the unit of measure is equivalent to
the unit of measure class.

C. A unit of measure conversion is a mathematical relationship between two different units of measure.

D. If you want to transact items in units of measure that belong to classes other than their primary UOM class, you must
define conversions between the base units of measure in different UOM classes.

E. You must define Unit of measure class with a base unit of measure.

Correct Answer: BCD

QUESTION 2

You set up an item organization and an inventory organization as part of your customer\\'s requirement. Your customer
has, by mistake, performed a receipt transaction in the item organization instead of the inventory organization. How wiil
you rectify the error?

A. Perform a correct receipt transaction and receive the item in the correct organization.

B. Perform a return of item and receive the item again in the correct organization.

C. Itis not possible to receive item in the item organization.

D. Perform a new receipt in the correct organization and retain the stock in item organization because it does not affect
any other operation.

Correct Answer: C

QUESTION 3

Your organization has lot controlled and non-lot controlled material and stores all defective material in a
subinventory called "Defect." The organization does not want defective material to be available for
reservations or for subsequent shipping to customers.

Which option satisfies this requirement?

A. Put a hold on the lot.

B. Disallow all inventory transactions for the subinventory "Defect.”
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C. Assign the subinventory a material status that disallows reservations and allows subinventory transfers and issues to
scrap.

D. Tag the lot as defective product.

Correct Answer: C

QUESTION 4

A customer has one Business Unit, two Legal Entities, and each have eight warehouses (defined as Inventory Orgs).
While trying to set up Cost Organizations for each of these Legal Entities, you were unable to perform the mandatory
step of assigning the Profit Center Business Unit for one set of eight Inventory Organizations; however, you could do it
for the other set. What is the reason for this?

A. The Business Unit is not enabled for Costing.

B. There is no Business Unit associated with the Legal Entity.

C. The Legal Entity Setup is incomplete.

D. There is no Inventory Validation Organization defined.

E. The General Ledger is not associated with Business Unit.

Correct Answer: B

QUESTION 5

Identify the correct movement request where the move orders are preapproved requests for subinventory transfers that
bring material from a source location to a shipment staging subinventory within the organization.

A. Automatic Movement Request Requisitions
B. Pick Wave Movement Request

C. Replenishment Movement Request

D. Shipping Movement Request

E. Movement Request Requisitions

Correct Answer: B
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